RAMAANYA TALENT SCHOLARSHIP EXAMINATION
AT 9T SEgia alieT 2022
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13) Tohder 8T & 550 &I 10 gfaerd arf¥e ATUROT s4TeT & &X & 660 ®II &
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(A) 13y (B) 2 ay () 3ay (D) 4 ay
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(A)  2,00,000 ¥4 (8) 3,00,000 ¥4
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ENGLISH

21) When did Mother Teresa died?

(A) 1995 (B) 1996 (C) 1997 (D) 1998
22)  Which of the following Sentences is False?
(A)  Raghu walked into Rampur territory saying Badi ....... Badi .......... Badi...........

(B)  Mangla could not hold Raghu.

(C)  Aslam was the player of the Rampur team.

(D)  The Chainpur team won the match.

23) What did Sudama’s wife send to Krishna as a gift?

(A)  Friedrice (B)

(C) Gram (D)

24)  What did the wizard want Aladdin to get from under the stone?

(A)  Stone (B)

(C) Aring (D)

25) The body of a Peacock is:-

(A)  Round (B) Oval (C)  Cylindrical

Parched rice

None of these.

Jewels

Alamp

(D) Circle



26) Whenis the “Feast of Dolls” celebrated in Japan?

(A)

(C)

15t March (B) 2" March

39 March (D) 4™ March

27) How was the little boy feeling while going to the fair?

(A)

(C)

Nervous (B)  Frightened

Sad and unhappy (D)  Full of life and laughter

28) What did the father do when the child said, “I want that toy.”?

(A)
(B)
(C)
(D)

He at once bought the toy for the child.
He said, “Look child, what is before you.”
He looked at the child red-eyed.

He began to beat the child.

29) Why did the boy start crying?

(A)
(B)
(C)
(D)

because he lost his Parents.
because a snake had bit him.
because a man had picked him up.

because his parents were not buying him the things he wanted.

30) Whois the Poet of “Running through the Rain”?

(A)

(C)

John Keats (B)  Mulk Raj Anand

Eleanor Farjeon (D) John Lea



31) Which of the following is correct statement:-

(A)  Box me help to lift this.
(B)  Me help box to lift this.
(C)  Help me to lift this box.
(D)  Help box me to this lift.

32) Choose the type of sentence: - “Madhuri is singing.”

(A)  Affirmative Sentence (B) Interrogative Sentence

(C)  Optative Sentence (D) Exclamatory Sentence

33) Barking dog Seldom bites. What part of Speech is the word “Seldom” ?

(A)  Verb (B) Adverb (C) Adjective (D) Noun
34) Three fourth of the work .................... finished.

(A)  have been (B) had

(C) hasbeen (D) were

35) What type of sentence is “Do or die” ?
(A) Simple (B) Complex

(C) Exclamatory (D) Compound

36) The Antonym of the word “Celebrity” is ............

(A)  Personality (B)  Festivity (C) Nonentity (D) Community
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40)

Fill in the blank, “NO Sooner had we reached the station...................... the train left.”

(A) then (B)  while (C) than (D) when

Hurrah! We have won the game. What part of speech is the underlining word?

(A)  Conjunction (B) Interjection (C) Adjective (D) Adverb

Which of the following is an adjective?

(A) Diploma (B) Diplomacy (C) Diplomatic (D) Diplomat

What kind of noun is “Cattle”?

(A)  Proper Noun (B)  Common Noun

(C)  Collective Noun (D)  Material Noun
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(A) O TEJ3NT H AT T FEROT dlelel SaRT Blell & |

(B) URT 3SHT & Fdlelh &l

(C) oEJ SaRT & a5 IAT a&] & GegAT R FAR el g
(D) 37awdr IREdT & THT TG F a9 W B & |
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(A) 14,500 ST (8) 15,500 et

(C) 16,500 ST (D) 3FH | FIg QT

TSfead e & O foha - T urear & SISt H |ar g 2
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(A)  =ATSCrateT (B) drefras
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57) 3Uagl I gLl AT FHell HA JARIT F ared Jehel foh Fear fovcsll gl & 2

(A) 4 (B) 8 (c) 10 (D) 12

58) Yrdlel FTel H WHI T AT HI HieT-H JiFaal 3uder v S oA 2

(A) T 3r (B) &9 ©gr

(C) STl ©3r (D) ST ¥ I
59) HHAG -------—- fratieex ufa g $r Ngad It 9Ied R FohdT & ?

(A) 56 (B) 40 (C) 32 (D) 28

60) el cYaEUT H AeAgicl A Tohclell gl 9T Bl & ?

(A) 50 HeX ¥ 60 Hex (B) 60 #HreXx ¥ 80 #Hex
(C) 70 #HeX ¥ 60 Hex (D) 50 #HreX ¥ 80 Hiex
GENERAL SCIENCE
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(A) I #H B) Sear & () @ H (D) Agaa H
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(A) Year (B) deImelr (C) IR (D)  IYROT

S

foeR & orery 78 fFE U W e & Aedr & 2

(A) BUU & e (B) aﬂatg & e

(C) derell & faAshe (D) FAFTIR & fowe

TSI T 39T glaY [9gR Tah 37197 UId e §aT AT ?

(A) 1912 (B) 1915 (C) 1950 (D) 1956

f9gR T5T & vuH AEAN FiA F ?
(A) &Y AREYT g (B) ST #gpeor fAg

(C) Tasligreg am (D)  hell HE

“TIAEY Jger” St f9gR T fr gad 30T ugrer § 39T 35 fhder & ?
(A) 860 HeI (B) 880 HIX

(C) 900 #HreX (D) 960 HeX
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(A) 19 (B) 20 (C) 21 (D) 33

69) gcferor VAT T FEH T3 AGEYA ¢ -

(A)  3TCThTAT (B) &HARIST  (C) UR (D)  ShIIERY

70) ST S HiT-AT fFEA 4R DA & ATH F Sl STl § ?

(A) TeyrdIsSe (B) fecf=w () feage (D) die

71) CIANGSS 39T T Tiee & ford or 1 faed & 3ol Turer g ?

(A)  SIHTeT (B) FeI5CS TECTH 3HTH AN

(C) ST (D) el

72) $Rd H TS Ugel HAGS Bl FI did & dT a5 AT ?

(A) 1992 (B) 1993 (C) 1994 (D) 1995

73) W%ﬁﬁmmaﬁwmgmm?

(A) 1991 (B) 1992 (C) 1993 (D) 1994
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79) Sl AT dRT AR ARHASH & g H g ?
(A)  TIT

N

(C) HITA

80) HAR I I &7 Fol HlI-AT § ?

(A) ohHCT

(C) TSTadreTer

(8) geft

(D)  gg&ufd

(B) haed

(D)  YFelT@AT



